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2 2,660, 132
J| 22,224
= 60,502
= 787,718
M ZEXAE AAE D18 = 78,480 45,798 32,682
= 10,000
i 68,480
ZEP LA 2 38,480 45,798 A7.318
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201 L2y 24,980 19,798 5,182
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OXHHAA 2| 80,0002 * 122 960
02 IZ2Y| 24,020 18,833 5,182
ozz2gy 24,020
—HIIQB(ENLA, LH2)
65,0002 122 1,980
~SOFHBH (ERHYA, Fu2al)
70,0002 122 2,040
—2H(FARA) 1,5002*10,0002] Ef 15,000
—NEBHSTY (ZEHSAS)
500, 0002 *103] 5,000
206 T2 3,500 6,000 A2,500
01 WEbl 3,500 6,000 A2,500
OFHA 29 W] 250,0002 145 3,500
401 AlAHIL 2 O] 10,000 20,000 10,000
01 Al&H] 10,000 20,000 210,000
QLKA QoA A WH|(14]) 5,000
OLXEN H2FD(14) 5,000
ENYAL 2Y DSMH 40,000 0 40,000
= 10,000
2 30,000
405 XHAHE S 40,000 0 40,000
= 10,000
2 30,000
01 RMUSEH S| 40,000 0 40,000
OLXEMW LA SE 7 40,000,000 14! 40,000
= 10,000
2 30,000
DEI LA YA IIBES 3,402,496 3,932,605 £530,109
= 2,650,132
| 22,224
= 40,002
2 690, 138
zAZANN AR E 613, 149 583,409 29,740
= 429,205
2 183,944
101 o121l 18,000 0 18,000
= 12,600
2 5,400
04 JIAHIRZNE L+ 18,000 0 18,000
OZAZANAXSH 0B oIy
1,800, 00024 *1074 S 4 18,000
= 12,600
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2,052
879

2,931

Skl
293, 100& 100 &&

M

2,931

2,931

2,052
879

2,931

M

592,218

414,553
177,665

583,409

8,809

50& 11,844,360 m

M

592,218
592,218

414,553
177,665

583,409
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41,500

112,000

A70,500

5,500

4,000

1,500
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1,900

400
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1,000

3,600
3,600

400

3,600

1,500

36,000
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A54,000

AEHIAL A
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36,000

36,000

90,000

A54,000

W

2,214,077
2,214,077

2,709,000

AN494,923

H

2,214,077
2,214,077
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A494,923
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2,214,077
2,214,077

2,709,000
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22,224
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OBASSHHRZH #FH|
35,6002+ 1074 S &1 3,556
| 3,556
OBASSBHNEH AAIAE 2|
1,066,800 * 107K S & 10,668
] 10,668
202 01t 8,000 0 8,000
| 8,000
01 =2Uioibl 8,000 0 8,000
OBASSBHEEH Ot
20,0002 %108 +402 8,000
)| 8,000
HolE AT 29 13,700 13,700 0
=2 6,850
2 6,850
101 Q1248 2,000 2,000 0
=2 1,000
2 1,000
04 JIZH22HS LS 2,000 2,000 0
O HolE M= 29 o121 (5%) 2,000
= 1,000
2 1,000
201 LByl 3,000 2,300 700
= 1,500
2 1,500
01 AtR2elt] 2,000 0 2,000
O Hols YX 22 2 2|
50,0002 ¥205 1,000
= 500
2 500
OgdlE oE 1= 250,0002 *4% 1,000
= 500
2 500
02 ZTZ2H| 1,000 2,300 A1,300
Oddls JI=oEE MIIQ2
10,0002 %1074 24 1,000
= 500
2 500
202 01t 5,700 5,400 300
=2 2,850
2 2,850
01 =Uoib] 5,700 5,400 300
Ol HaHE WSS 010l 20,0008 *32 952 5,700
= 2,850
2 2,850
206 T2 bl 3,000 2,000 1,000
= 1,500
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SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
= 1,500
01 MHEH 3,000 2,000 1,000
OHf HoHZE MY 2YME  500,0008 %65 3,000
= 1,500
2 1,500
DEI M MM AHEX X4 36,000 84,000 48,000
= 13,500
2 22,500
206 T2 36,000 84,000 48,000
= 13,500
2 22,500
01 MHEH 36,000 84,000 148,000
ODBE B MMAHHX =48 36,000
= 13,500
2 22,500
B oEoE 2R 22,346 178,438 A 156,002
= 7,502
2 14,844
206 T2l 22,346 178,438 A 156,002
= 7,502
2 14,844
01 MHEH 22,346 178,438 A 156,092
Of HolE ZSYMYl XY 35,0002 334ha 11,690
= 3,506
2 8,184
OSSO EALE BH| X
40,0001 333480/ 100 10,656
< 3,99
2 6,660
DEI M 23 8,000 30,000 A 12,000
= 9,000
2 9,000
402 QIEXHEOIH 18,000 30,000 A12,000
= 9,000
2 9,000
01 2IAX=EE 18,000 30,000 A12,000
OBl AE, HFAIL AP A 18,000
= 9,000
= 9,000
29 A3 347,200 181,250 165,950
307 12+0IH 347,200 171,250 175,950
02 SI2ABAEE 347,200 171,250 175,950
O SR8 4EX
140,000% 3, 100ha*80/ 100 347,200
doiy D8 o 22 5,500 5,000 500
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SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il b o B2
301 LPBAI 5,500 5,000 500
10 BAAHIE A2 5,500 5,000 500
O# BRHA FM2I2NT ALY
5,0002 10023 x33] 1,500
Ondels SY(T) VM Fa2
20,0002 ¥502 x23| 2,000
ODNEX MMs Hls MTK 2As
20,0002 * 1002 13l 2,000
XIS H I KB AIY 28,800 0 28,800
402 BAT 20| 28,800 0 28,800
01 pIATEEE 28,800 0 28,800
OREH X LRI X &
1,800,000 *20CH 80/ 100 28,800
ZM MAY B R=FT AY 25,000 0 25,000
= 7,500
2 17,500
402 BT RO 25,000 0 25,000
= 7,500
2 17,500
01 pIAX=EE 25,000 0 25,000
OZ M2 Moy B2 REFTF AY(1HA) 25,000
& 7,500
2 17,500
Sof OlFER BelAlY 5,000 0 5,000
= 2,500
2 2,500
206 T2 5,000 0 5,000
= 2,500
2 2,500
NIEED 5,000 0 5,000
Osotord Wptg Xe 500, 0002 * 1074 £ 5,000
= 2,500
2 2,500
SR 2UI| X 10,000 0 10,000
402 Q12X 0|H 10,000 0 10,000
01 pIZX=EE 10,000 0 10,000
O8ER® X2 5002 +20,0004¢ Xt 10,000
PRS2 MA IS 49,600 17,340 32,260
= 20,500
2 29,100
SRS M4 KR 5,000 14,560 A9,560
402 Q12X 0|H 5,000 14,560 A9,560
01 pIATEEE 5,000 14,560 A9,560
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Sl 4 T3 MY 10,800 0 10,800
= 3,600
s 7,200
307 RI2HOIH 10,800 0 0,800
= 3,600
= 7,200
02 BltAAEX 10,800 0 10,800
O=eld Ha&X3 540, 000:& »25ha*80/100 10,800
& 3,600
i 7,200
ETsitE BESEAMIG 33,800 0 33,800
= 16,900
= 16,900
301 YB3 33,800 0 33,800
= 16,900
= 16,900
12 JIEtE2 4= 33,800 0 33,800
OEESMSASHHNEZH AL
169& 200,000 M’ 33,800
= 16,900
= 16,900
HAEEE BHHE sS4 350,236 2,080,200 A 1,729,964
= 20,000
= 1,000
& 69,958
i 259,278
20 MAs &= g 275,756 1,937,250 AN 1,661,494
= 20,000
= 59,028
i s 196,728
NEFET = In] 50,000 100,000 A50,000
402 SI2t X201 50,000 100,000 A50,000
01 22 EX 50,000 100,000 250,000
ONZZ ZHAASAY X2
100,000, 0002 *141%50/ 100 50,000
MASES HHHEX =4 65,000 52,500 12,500
201 et 2,500 2,500 0
01 AtS 22l 2,500 2,500 0
OYB+BH(AKZES DI, TF)
50,000& 105 2,500
206 M=l 5,000 0 5,000
01 M=l 5,000 0 5,000
OMASES S8 ASAY 5,000
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307 2I2tol & 25,000 0 25,000
02 2lt3aE X 25,000 0 25,000

OoEMa2 XA 50& *500,000= 25,000
401 AIEHIZL 20 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OMASHES |4 ASAY dt2A(63)2eal 10,000
Osd2ltE = Z401 Ol ™ & X 10,000
402 b= 01M 12,500 50,000 237,500
01 2ItXEE X 12,500 50,000 A37,500
OO0ILIESEr AIEEX
12,500, 000 2K 2~ *50/ 100 12,500
sHENHHESE=XH 2,500 0 2,500
< 1,000
= 1,500
301 Let2H= 2,500 0 2,500
e 1,000
= 1,500
12 JIetE4a=3 2,500 0 2,500
O=sz2 MilEgzs NA 2,500
S 1,000
= 1,500
SEFHIc dadls A" 80,000 0 80,000
= 40,000
= 40,000
402 22t =01 80,000 0 80,000
< 40,000
= 40,000
01 2IZEXEE X 80,000 0 80,000
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100,000, 000& *1ha*80/100 80,000
= 40,000
= 40,000
AMER0 SHAHE XI& 560 0 560
S 280
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307 G12t0ld 560 0 560
S 280
= 280
02 2I2tFaEx 560 0 560
OAlZ&0 2tIHoe X
1,120,000& » 14150/ 100 560
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= 280
ot MAY St FEE X 600 400 200
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402 Q12FXHEOIF 10,696 0 10,696
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2 5,348
01 QIAX=EE 10,696 0 10,696
OMAMAAIL SIS KR
21,392,00021 *141+50/ 100 10,696
= 5,348
2 5,348
ey DA ML 23 6,400 0 6,400
= 2,400
2 4,000
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< 2,400
2 4,000
01 PI2AR=EE 6,400 0 6,400
O Dl MaIE 23
8,000,000 +17H 2 *80/ 100 6,400
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= 20,000
= 10,000
2 30,000
402 QI XHZOIH 60,000 0 60,000
=2 20,000
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01 QAR =R E 60,000 0 60,000
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2 30,000
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=l 1,000
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2 62,550
48 ANNE BN 29 46,000 57,950 A11,950
206 T2 6,000 10,000 ~4,000




A Jl=HdH

B 301|&= SYUE SH

Sl 45 AUNE 84 CERL
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
01 T2l 6,000 10,000 A4,000
O+E5H #BDS W2
500, 0002 6% 2231 6,000
301 YB3 5,000 4,200 800
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O%+% M5 T X2
20,000,002 * 12 4 70/ 100 14,000
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2 9,050
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= 3,000
2 5,000
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z 1,000
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2 2,000
202 01t 5,000 5,000 0
z 1,000
= 2,000
2 2,000
04 Z2H3H0lH] 5,000 5,000 0
Odhel RS} 54 5,000
z 1,000
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201 Let2d| 1,000 2,000 A 1,000
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= 1,473,409
& F4 881,199 241,540 639,659
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& 38,119
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201 LBt 3| 1,500 3,500 22,000
01 AtE222|Hl 1,500 3,500 22,000
OYBI=8H (FM2 E22 S) 1,500
307 212t01& 19,000 0 19,000
02 BlItAAE L 19,000 0 19,000
Ot D2s M4 HAl AlzHl X
20,0002 *2005 4,000
ORSHYHES B 0Y X
2,500,000& 63| 15,000
402 2I2H X201 300,000 30,000 270,000
02 212FCH 2 A 300,000 0 300,000
OHEHASUT 2l 2% U ALSE
1,000, 000& %3005 300,000
SUCEMES CIXO - TR N X 25,000 25,000 0
= 5,000
i 20,000
402 It X201 25,000 25,000 0
& 5,000
= 20,000
01 QI EEX 25,000 25,000 0
OBHE HME OIXQ T HE(1I12) 25,000
& 5,000
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02 Qa8 x 120,000 0 120,000
ONEZMAIE 018 2435 A
15,000@ *3,0005 45,000
Oste 5 23 5,000& *5,0005 25,000
OS=E2 %58 TY A3Z+F =i
5,000& *10,0005 50,000
04 QIZFBHALE X 2,000 2,000 0
O=4ol 3H0tS MSUE HAX 2,000
05 QIt2IE3 50,000 50,000 0
OSOtN M AIHE K ZHIRE 50,000
402 QI+X =0l A 65,000 0 65,000
01 P2AXEEX 65,000 0 65,000
OSH2MHM 2HAL X
65,000&! *2, 000 *50/ 100 65,000
405 XH&HE S| 60,000 0 60,000
01 ML SEFSH| 60,000 0 60,000
OS2 LS0HX Y4 3,000,0008+20F 60,000
HACCP Xl & XI & 9,600 10,000 A400
pJ 4,800
= 1,440
2 3,360
307 20| H 9,600 10,000 400
pJ 4,800
= 1,440
2 3,360
02 QAHaBX 9.600 10,000 400
OHACCP X=X & 9,600
pJ 4,800
= 1,440
2 3,360
A0 OIAFXH At 63,593 72,880 ~9,287
pJ 39,927
= 7.889
2 15,777
402 QI2+X =20l A 63,593 72,880 ~9,287
pJ 39,927
= 7.889
2 15,777
01 eIAx=2Ex 63,593 72,880 ~9,287
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01 SIZPGEEX 9,900 9,900 0
OBt2HHA AL 18,000& 5505 9,900
= 2,475
= 7,425
SR HE At 13,200 13,200 0
& 3,300
i 9,900
402 BI2H 201 13,200 13,200 0
= 3,300
= 9,900
01 B GEEXR 13,200 13,200 0
OBt ALS 40,000 #5505 *60/ 100 13,200
< 3,300
= 9,900
SR S5 MY 23,184 16,560 6,624
= 3,478
= 19,706
402 It 201 23,184 16,560 6,624
= 3,478
= 19,706
01 It EEX 23,184 16,560 6,624
OstSEAY 6,000 *3,8645 23,184
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MR EZZ XA 2,400 2,400 0
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2 3,037
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2 3,087
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OQIB4H SHarolAl ZeiD|(1H4) 50,000
= 25,000
2 25,000
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